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14° 0.2419 0.9703 0,2493
15° 0.2588 0.9859 0,2679
16° 0.2766 0,9613 0,2867
sinx = 0.2766 , tany = 0.2493
® 28° @ 29° ® 30° @ 31° ® 32°




7.



g3} 2ol £C = 90°%) A7t

A7}

ABC 9| A] tanA x sin A ©] 329

1 5 9
Op @5 9

@% ® 2

&




7
1 EG

welo] ojzh4
CE 9

in x
o o, sin

g A& x
] ZCEG
o|F o 7 2+

o 3

=7

@ 3a

® V2a

S

<



10.

48in?45° + tan?230° x 2 cos? 45° 9] ZF&?

@ 4 @ 5 ® 6 @ 7



11. 2 % 25in60°tan30°cos0° + 7 9] 3r2?

@ 3 @5 ® 6 @ 8 ® 10



12.

® 3:2

Al WZ+e] 2719 H|7F 2 : 3« 40]Th izt
2t & o, sinA : tanA = ?
@ 2:3 ® V3:2



13. 45° <A <90° ¥ W, sinA, cosA, tanA & 4 JAZ & A9

@ tanA < cosA <sinA @ cosA <tanA <sinA
@ sinA < cosA < tanA @ sinA <tanA < cosA

® cosA <sinA < tanA



14. o2 A2 25 211 cos10°—tan 10°+2sin 10° x tan 50 ° 9] 3
s BRI o2

2= sin cos tan

10° 0.17 0.98 0.18
35° 0.57 0.82 0.70
50° 0,77 0.64 1.20
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